DRAWING _NO.

10104489 / 1 6 S 3 1 2 i
BILL OF MATERIAL REV] DATE DESCRIPTION ECO | BY [CKD
ITEM CATALOG INSULATION |[INSULATION] WIRE bs,/31/2012 COMBINE SHEET IN_AGILE 28580 SV
37| (M SATALOC TYPE / DESCRIPTION | INSULATION JINSULATON WIRE |stup size | aTv/BAG | QTY/BOX /31/ MB
A [10101443|  YHSS18BG10 SPLICE [7JHEAT SHRINK| RED  |22-18| —-— 10 s
B [10101445|  YHSS14BG10 SPLICE 7IHEAT SHRINK| BLUE | 16-14] —— 10
C [10101447| YHSS10BG10 SPLICE "7HEAT SHRINK| YELLOW [12-10] —— 10
D 10101444 SP18BG25 SPLICE VINYL RED | 22-18| —— 25
E 10101446 SP14BG25 SPLICE VINYL BLUE |16-14| ——
F 10101448 SP10BG25 SPLICE VINYL YELLOW |12-10| —-— = === T
C [10101449| TP188RBG25 RING VINYL RED | 22-18 7B
H [10101451] TP148RBG25 RING VINYL BLUE |16-14 # A B C M N 0
| [10101453| TP108RBG25 RING VINYL YELLOW |12—10 )
J 10101450 TP1810RBG25 RING VINYL RED  |22-18| #10 e e
K [10101452| TP1410RBG25 RING VINYL BLUE |16-14| #10
L [10101454]| TP1010RBG25 RING VINYL YELLOW |12-10| #10 D E F P Q R
M [10101462| QP18F25X03BG25 | QUICK DISCONNECT VINYL RED | 22-18] .250 FQC
N [10101464| QP14F25X03BG25 | QUICK DISCONNECT VINYL BLUE |16—14 | .250 FQC —— T e
0 [10101466 | QP1OF25X03BG25 | QUICK DISCONNECT VINYL YELLOW |12-10] .250 FQC s Y | S T U
P [10101455| TP186FBG25 FORK VINYL RED | 22—18 | #6 SPADE
Q [10101457| TP146FBG25 FORK VINYL BLUE | 16—14 | #6 SPADE
R [10101459] TP106FBG25 FORK VINYL YELLOW |12—10 | #6 SPADE o e i I s
S [10101461| TP188FBG25 FORK VINYL RED | 22-18| #8 SPADE J K L v W %
T [10101458|  TP148FBG25 FORK VINYL BLUE | 16—14 | #8 SPADE
U [10101460|  TP108FBG25 FORK VINYL YELLOW | 12—10 | #8 SPADE
V [10101456| TP1810FBG25 FORK VINYL RED | 22—18 |#10 SPADE
W [10101463| TP1410FBG25 FORK VINYL BLUE | 16—14 |#10 SPADE
X [10101465| TP1010FBG25 FORK VINYL YELLOW |12—10 |#10 SPADE| 25 5 SIDE 1 OF RACK SIDE 2 OF RACK
8>/10101118 | 22WHITESPINNER |22 INCH EMPTY SPINNER __ — — — — — SCALE: 1/4 SCALE: 1/4
22 INCH FULLY LODDED
5> 10101442 | 22WHITESPINNERFL PIMNER — —— — — — —
o oo £0, O
Sty o ong s
BURNDY e
Catalog No./Numéro de cat.: inccion dinsaisron
SP18BG25 © ot oot g
Vinyl Sﬁﬁ:a/ﬂ:ngrf Vinyle /j;\% e aton
NOTES: @), aTv: 25 PCS @e Hmi,
. e

1. ALL CONNECTORS TO BE PACKAGED IN 4-1/2" X 3-3/4" BAGS WITH THE QTY'S

SHOWN ON PAGES 2 & 3.

2. REFER TO SHEETS 2 & 3 FOR BAG DETAILS.

CONNECTORS TO BE PLACED ON RACK IN COLUMNS.
SUGGESTED ORDER SHOWN IN DISPLAY RACK DETAIL.

4. EACH HOOK TO CARRY 5 BAGS.

P

246519
|- 1
7" 81810 " 48631 3

I}FULL DISPLAY RACK (10101442) COMPRISES AN EMPTY DISPLAY RACK (10101118). REORDER CARDS, (SEE SHEET 4)

AND 5 PACKAGES OF EACH CONNECTOR SHOWN ON TABLE (120 PACKAGES TOTAL).

6. INDIVIDUAL ITEMS AVAILABLE FOR REORDER.

I>HEAT SHRINK SPLICES ARE NOT UL/CSA CERTIFIED. BAGS WILL NOT SHOW UL/CSA LOGOS.

FRONT

3. Insert connector into color coded

j,
groove in tool and squeeze handies
until the ratchet mechanism releases.
3. Insérez le connecteur dans la.
code a coleurs dans.

Voutil et serrez les poignées jusqu'a
ce que le mécanisme ralched libére.

BAG DETAIL

BACK

DISPLAY RACK/BAG PRINTING

TO ORDER BURNDY® PRODUCTS CALL

UNITED STATES:

1-800—346—4175 (LONDONDERRY, NH)

CANADA:

1-800-361-6975 (QUEBEC)

ITEM NO: SEE TABLE

CAT NOo: SEE TABLE

SCALE: 1A

07/23/09
07/30/09 3
v S BURNDY

INDIVIDUAL REORDER CARDS ARE INCLUDED WITH EACH BOX OF CONNECTORS. (SEE SHEET 4) 1—-800—387-6487 (ALL OTHER PROVINCES) PVL.__J. BRODEUR 07/31/09
PPVL:_R. CAVANAUGH __07/30/09 DRAWING NO REV
FOR PRODUCT INFO: http: //www.burndy.com EAM:_—— = 10104489 E
REL LEVEL_ AutoCAD D sueer 1 o 4
8 7 1 6 | 5 3 1 2 | T



DRAWING_NO.
10104489 7 1 6 5 1 4 3 1 2 i
REV.| DATE DESCRIPTION ECO BY |IC'K'D
”a» ney - E ps/31/2012 COMBINE SHEET IN  AGILE 28580 SV | MB
B> " B" "\ -
| | O B B ] e O B

BURNDY BURNDY BURNDY

Catalog No./Numéro de cat.: Catalog No./Numéro de cat.: Catalog No./Numéro de cat.:

YHSS18BG10 YHSS14BG10 YHSS10BG10

#22-/18 AWG #16—{#14 AWG #12—-#10 AWG

H/S Splice/Manchon Thermorstractable H/S Splica/Manchon Thermoretractable H/S Splice/Manchon Thermoretractable
QTY: 10 PCS QTY: 10 PCS QTY: 10 PCS
MO NN I
7 81810 48667 2 7" 81810 " 48665 8 7 81810 = 48663 4
"n” - ne»
\ E ™~ F —~_
| [ O ] | [ O ] [ O ]

BURNDY BURNDY BURNDY

Catalog No./Numéro de cat.: Catalog No./Numéro de cat.: Catalog No./Numéro de cat.:
SP18BG25

SP14BG25 SP10BG25
#22-#18 AWG #6—#14 AWG #2-#10 AWG
IJSTEDWM Splice/Manchon Vinyle IJSTEI\Jﬁny‘ Splice/Manchon Vinyle LISTEII\l""y‘ Splice/Manchon Vinyle
QTY: 25 PCS e QTY: 25 PCS @e TY: 25 PCS @
o8 2 @6 . o ®,0 &

AU U I
7 8 3 7 0 7

|| 519
1810~ 438631 81810 48629 81810 48627 6

'___W:EFUTSI_O ______ 7 [T T]Mede mn USA (Y ~ =1 [~ " TIMade mn OSAT (Y T T 7
Fabriqué aux EU. Fabriqué aux E.L. Fabriqué aux EU.

BURNDY

Catalog No./Numéro de cat.:

BURNDY

BURNDY

Catalog No./Numéro de cat.:
TP188RBG25 TP148RBG25 TP108RBG25

Catalog No./Numéro de cat.:

#22—#18 AWG, #8 Screw/Vis
Ring Terminal /Coane pré—izclée & oeil

L
TY: 25 PCS e
8,2 g

246519

LT
7" 81810 48661 0

#16—#14 AWG, #8 Screw/Vis
Ring Termind /Cosse pré—isolée & oeil

LISTED
@17@. 25 PCS @e

246519
U
7" 81810 " 48651 1

#12—410 AWG, #8 Screw/Vis
Ring Terminal/Cosse pré-isolée & oell

"0, QTY: 25 PCS @e
17L

246519
MU A
7" 81810 " 48641 2

SEE SHEET ONE FOR NOTES.

g \ " \ g \

[T~ T IMade W OSA— (7Y ~— ~ ~ ~ =1 [T~ TJMade in OSA (Y ~— — — ~ 1 [T T Made n OSA (Y — — — — =
Fabriqué aux EU. O Fabriqué aux E.IJ.O Fabrigué aux EU. O

BAG PRINTING
ITEM No: SEE TABLE (SHEET 1)
CAT NO: SEE TABLE (SHEET 1)

BURNDY BURNDY BURNDY
TO ORDER BURNDY® PRODUCTS CALL

Catalog No./Numéro de cat.: Catalog No./Numéro de cat.: Catalog No./Numéro de cat.:

TP1810RBG25 TP1410RBG25 TP1010RBG25 UNITED STATES:

o e i 1 o e e Sy e e 1-800-346-4175 (LONDONDERRY, NH) (o o777
@D”PTY 25 PCS;ZM@;Q @D”E)TY 25 PCSZg:Q @179TY 25 PCSM.(?;’Q 1_800_36(_1‘15[22[7)2: (QUEBEC) _A:E& %'AJE g;g; Bc BURNDY‘
i i [ o L N s TR e
FOR PRODUCT INFO: http: //www.burndy.com AM::—T 10104489 E
gg"ﬁ{,gfiﬂ'f;cm E) SHEET 2 oF 4

8 | 7 1 6 5 1 4 3 1 2 | T



DRAWING NO.

10104489 1 6 5 3 T 5 -
REV.| DATE DESCRIPTION ECO BY |IC'K'D
y gor - » A E ps/31/2012 COMBINE SHEET IN  ACILE 28580 SV | MB
P~ o o~
| et O B B
Catalog No./Numéro de cat.: Catalog No./Numéro de cat.: Catalog No./Numéro de cat.:
QP1BF25X03BG25 QP14F25X03BG25 QP10F25X03BG25
#22-#18 AWG, .250" Width/Large #16—#14 AWG, .250" Width/Large #12-§10 AWG, 250" Width/Large
Female Disconnect/Cosse Femelle Female Disconnect/Cosse Femelle Female Disconnect/Cosse Femelle
T ar: 25 pes @e .Qr: 25 PCS @e W..QTY: 25 PCS @e
46DE 207131 46DE 207131 46DE 207131
NI NI A O LA
7 81810 48625 2 7 81810 48623 8 7 81810 48621 4
T~ T~ R
e O e | e O
BURNDY BURNDY BURNDY
Catalog No./Numéro de cat.: Catalog No./Numéro de cat.: Catalog No./Numéro de cat.:
TP1BEFBG25 TP146FBG25 TP106FBG25
#22—-#18 AWG, #6 Screw/Vis #16—#14 AWG, #6 Screw/Vis #12-#10 AWG, #6 Screw/Vis
Fork Terminal/Cosse a Fourche Fork Terminal /Cosse a Fourche Fork Terminal/Cosse a Fourche
BTy 25 PCS @e ‘TD..QTY: 25 PCS @e Q1Y 25 PCS @e
17L 246519 17L 246519 17L 246519
IR IR AR O
7 81810 48657 3 7 81810 48647 4 7 B1810 48637 5
T~ T WV~
O O TeianO
BURNDY BURNDY BURNDY
Catalog No./Numéro de cat.: Catalog No./Numéro de cat.: Catalog No./Numéro de cat.:
TP188FBG25 TP148FBG25 TP108FBG25
#22—{18 AWG, #8 Screw/Vis #16—#14 AWG, #8 Screw/Vis #12—4#10 AWG, #8 Screw/Vis
Fork Terminal/Cosse a Fourche Fork Terminal/Cosse a Fourche Fork Terminal /Cosse a Fourche
‘bLarY: 25 PCS @e "o QTY: 25 PCS @e "o ary: 25 PCS @e
17L 246519 17L 246519 17L 246519
VAN TR TR O SEE SHEET ONE FOR NOTES.
7 81810 48659 7 7 81810 48649 8 7" 81810 48639 9
”V" ’W" an
N N N
O O a0
BAG PRINTING
BURNDY ITEM No: SEE TABLE (SHEET 1)
) . ) TO ORDER BURNDY® PRODUCTS CALL
Cutzalogay%éi‘lolg%% de c;(\lrt.. Catalog _rrl&.mlérggg de cat.: Catalog y&.éNuuFrgg;g de cat.: UNITED STATES: CAT No: SEE TABLE (SHEET 1)
Embfm./cise o Fanche :F‘f;ﬁl;ﬁﬁ’f/ci‘l S rovhe ’:;2; oo o Fourhe 1-800-346-4175 (LONDONDERRY, NH) B s
. . . . CKER: . MICHAUD 07/30/09 o
&), m: 25 PCs @e @b, am: 25 Pes @e @, ar: 25 Pes @e - aop s VADA: (uese) L M7 8 BURNDY
D i, M, o S L ey e
FOR PRODUCT INFO: http: //www.burndy.com AM::—SLT 10104489 E
gg"ﬁ{,gfiﬂ'f;cm D SHEET 3 oF 4
8 | 1 6 5 3 1 2 | T



DRAWING NO.

10104489 / 1 4 5 1 2 i
SEE SHEET REV.] DATE DESCRIPTION ECO | BY [CKD
REORDER CARD INFORMATION CARD INFORMATION > %3 E bs/a1/2012 PV ———— b8530 SV | MB
ITEM CATALOG ITEM CATALOG LETTER
NUMBER NUMBER NUMBER NUMBER
10104465 YHSS18BG10RC 10101443 YHSS18BG10 A
10104466 YHSS14BG10RC 10101445 YHSS14BG10 B
10104467 YHSS10BG10RC 10101447 YHSS10BG10 C
101044638 SP18BG25RC 10101444 SP18BG25 D
10104469 SP14BG25RC 10101446 SP14BG25 E
10104470 SP10BG25RC 10101448 SP10BG25 F
10104471 TP188RBG25RC 10101449 TP188RBG25 G
10104472 TP148RBG25RC 10101451 TP148RBG25 H
10104473 TP108RBG25RC 10101453 TP108RBG25 |
10104474 TP1810RBG25RC 10101450 TP1810RBG25 J
10104475 TP1410RBG25RC 10101452 TP1410RBG25 K
10104476 TP1010RBG25RC 10101454 TP1010RBG25 L
10104484 | QP18F25X03BG25RC | 10101462 | QP18F25X03BG25 M
10104486 | QP14F25X03BG25RC (10101464 | QP14F25X03BG25 N Q
10104488 | QP10F25X03BG25RC (10101466 | QP10F25X03BG25 )
10104480 TP148FBG25RC 10101458 TP148FBG25 P
10104479 TP146FBG25RC 10101457 TP146FBG25 Q
10104481 TP106FBG25RC 10101459 TP106FBG25 R
10104483 TP188FBG25RC 10101461 TP188FBG25 S B u RN DY
10104477 TP186FBG25RC 10101455 TP186FBG25 T
10104482 TP108FBG25RC 10101460 TP108FBG25 U
10104478 TP1810FBG25RC 10101456 TP1810FBG25 \ COtGlOg NO./NumérO de COJ[.:
10104485 TP1410FBG25RC 10101463 TP1410FBG25 W
10104487 TP1010FBG25RC 10101465 TP1010FBG25 X I> SP18BG25
#22—#18 AWG
I}Vinyl Splice/Manchon Vinyle
TED QTY: 25 PCS
o TR - 2,
7" 81810 48631
TIME TO REORDER
HEUF\’E\A DEOS(\)/EAX&NDER
Made in U.S.A./Fabriqué aux E.U.
FORM 1
NOTES:

1. LAYOUT ON REORDER CARD TO MATCH BAGS WITH THE ADDITION OF
"TIME TO REORDER, HEURE DE COMMANDER A NOUVEAU” AS SHOWN.

I}CATALOG NUMBER AND DESCRIPTION TO COINCIDE WITH LETTERS A—X ON SHEETS 2 & 3.

3. REORDER CARDS TO BE PACKAGED WITH EACH BOX OF CONNECTORS ORDERED.

4. REORDER CARDS TO BE APPROXIMATELY THE SAME HEIGHT AND WIDTH AS BAGS.

(3—-3/4” WIDE X 4-1/2” TALL)

TO ORDER BURNDY® PRODUCTS CALL

UNITED STATES:
1-800—346—4175 (LONDONDERRY, NH)

CANADA:
1-800-361-6975 (QUEBEC)

1—-800—387-6487 (ALL OTHER PROVINCES)
FOR PRODUCT INFO: http: //www.burndy.com

REORDER CARD

ITEM No: SEE TABLE

CAT NO: SEE TABLE

SCALE: 14

DRAWN BY: _R. BOISVERT 07723709
J._MICHAUD 07/30/09

APPVL:_J._ MICHAUD 07/30/09]
APPVL —— —
VL) BRODEUR 07731709

FAM: _——

PPVL: R. CAVANAUGH 07/30/09

S BURNDY'

DRAWING_NO

20

EV

101044389

DOCUMENT TYPE: Sales

v
REL LEVEL: _AutoCAD D

sHeeT 4 oF 4

E

4 3 1

2

=



